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FICHa De aVaLIaÇÃO 2
Grupo I

1  D 2  B 3  a 4  B 5  C

Grupo II

1   1.1   O vetor  AB(3, -6)  é um vetor perpendicular à reta  r ,  logo, um vetor diretor da  r  pode ser  

   r  = (2, 1) .  Portanto,  r: y = 
x
2  + 2

7
 + x - 2y + 7 = 0 .

1.2   10
7

1.3  E ,5
9

5
13

-c m

1.4  y H -2x - 1 / y H 
x
2  + 2

7
 / y < 5 0 x G 0

1.5  A[ADCE ] = 20
99

 u. a.

2   -2

3   3.1  V , ,5 2
5

0c m

3.2  Por exemplo,  2x + z = 10 .

3.3  Por exemplo,  4x - 3z = 10 .

3.4  Vpirâmide = 6
25 65

 u. a.
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